
 

Chemistry 20 Unit 2 

Lesson 5 - Combined Gas Law 84 mins 

 
Charles’ Law (Solving for Temp) 

Ex.  
QUESTION 4)  
If 17.50 mL of argon gas at -12.50 °C becomes 20.00 
mL, calculate its final temperature in Celsius. 
 
 
 
 
 
CLASS TO SOLVE ON THE BOARD 

Ex. 
Question 7)  
Carbon dioxide produced by yeast in bread dough 
causes the dough to rise, even before it is baked. During 
baking, the carbon dioxide gas expands. Predict the 
what was the initial temperature of 0.15 L of carbon 
dioxide in bread dough that is heated from to 145.0 °C at 
constant pressure and expands to 40 L. 

 
Balloon/Pop Bottle and Hot Cold DEMO 
 
Guy Lussac’s Law 

- As temperature increases, pressure increases 
- Car Tires… winter 
- Steam Engine 
- Soccer Ball in your Trunk 

ORT 1

P 1 = T 2

P 2 T TP 1 2 = P 2 1  

  



Chemistry 20 - Unit 2 - Guy Lussac’s Law 
Name: _________________________________________ 

 
Complete all of the following problems to the best of your ability. Ensure that you show all of your work, including the 
formula used and the substitution of numerical values. Write legibly, and make sure that your name is on this sheet. If 
you have any questions, please refer to your notes or chapter four of your textbook. Good luck! 
 
You may find the following formulas and constants useful: 
 

T 1

P 1 = T 2

P 2  

760.000 mmHg = 101.325 kPa = 1.00000 atm 
1000 mL = 1.000 L 

  
1. A sample of gas at in a tank is cooled from 240C to 0C. What is the final.65 mmHg1 × 102  

pressure inside the steel tank? 
 
 
 
 
 
 
 

2. If a gas inside a closed container is pressurized from 15 atm to 16 atm and its original 
temperature is 25C, what is the final temperature? 

 
 
 
 
 
 
 
 

3. A 28.4 L sample of nitrogen inside a rigid, metal container at 51C is placed inside an over 
whose temperature is 254 C. The pressure inside the container at 51C was 2.7 atm. What is 
the pressure of the nitrogen after the temperature is increased? 

 
 
 
 
 
 



4. If a gas is cooled from 323.0 K to 273.15 K and the volume is kept constant. What final 
pressure would result if the original pressure was 750 mmHg? 

 
 
 
 
 
 
 
 
 

 
5. A gas has a pressure of 699.0 mmHg at 40.0C. What is the temperature at standard 

pressure? 
 
 
 
 
 
 
 
 
 

6. Determine the pressure when a constant volume of gas at 1.00 atm is heated from 20.0 C to 
30.0 C.  

 


